
HRADIŠTĚ C, DÚ27b, 22.03.2019, 

Taktika obtížnější 

 

 

1.příklad     Bílý na tahu (pš 5/49) 
XABCDEFGHY 
8-+-+-+l+( 
7zp-+-+-zpk' 
6P+-+-+p+& 
5+-+-+p+-% 
4-+-wQ-+-+$ 
3+-+-+-wqP# 
2-+-+-+L+" 
1+-+-+-tRK! 
xabcdefghy 

Bílý zahrál 1.Dxa7, jak odpověděl černý? 

 

 

 

 

 

 

 

3.příklad     Bílý na tahu (pš 1/249) 
XABCDEFGHY 
8r+lwq-+-mk( 
7zppzpp+Qzp-' 
6-+n+-+-zp& 
5+-+-zP-+-% 
4-+LzP-+-+$ 
3+-+-+-+-# 
2P+-+-zPPzP" 
1vl-vL-+RmK-! 
xabcdefghy 

? 
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2.příklad     Černý na tahu (pš x119) 
XABCDEFGHY 
8-+-+-+-+( 
7+-+-+pmk-' 
6p+-+-trpzp& 
5+-zp-wQ-+-% 
4-+P+P+-wq$ 
3+P+-+-tRR# 
2-+-+-+K+" 
1+-+-+r+-! 
xabcdefghy 

? 

 

 

 

 

 

 

 

4.příklad     Bílý na tahu (pš x223) 
XABCDEFGHY 
8-+-+N+-mk( 
7zpQ+-+-vl-' 
6-+nzp-+pzp& 
5+-+-zp-+n% 
4-+-+q+-+$ 
3+-+-+-+-# 
2-zP-+-+PzP" 
1+-+-+RvLK! 
xabcdefghy 

? 

 

 

 


